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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer any two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is meant by organizational behaviour ? How does 

scientific management and behavioural management 

differ in significant ways ? 

laxBukRed O;ogkj ls vki D;k le>rs gSa \ oSKkfud izcU/k 

rFkk O;kogkfjd izcU/k mYys[kuh; :i ls fdl izdkj ls 

fHkUu gSa \ 

2. Define personality. Do biological factors affect the 

personality of an individual ? Briefly discuss any five 

personality traits. How does personality determine the 

behaviour of an individual ? 

O;fDrRo dks ifjHkkf”kr dhft,A D;k tUetkr dkjd ,d 

O;fDr ds O;fDrRo dks izHkkfor djrs gSa \ O;fDrRo dh fdUgha 

ik¡p fo’ks”krkvksa dk la{ksi esa o.kZu dhft,A O;fDrRo fdl 

izdkj ,d O;fDr ds O;ogkj dks fu/kkZfjr djrk gS \ 

3. Why are groups formed in organizations ? What are 

the characteristics of a group ? Discuss the problems of 

managing group behaviour and state the methods for 

managing group behaviour. 

laxBuksa esa lewgksa dk fuekZ.k D;ksa gksrk gS \ ,d lewg dh 

D;k fo’ks”krk,¡ gksrh gaS \ lewg O;ogkj dks fu;fU=r djus esa 

vkus okyh leL;kvksa dh foospuk dhft, rFkk lewg O;ogkj 

dks fu;fU=r djus dh fof/k;k¡ crkb;sA 
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4. What is meant by group cohesiveness ? State three 

important functions performed by groups in an 

organization. 

lewg lkeatL; ls D;k vk’k; gS \ ,d laxBu esa lewgksa }kjk 

fu”ikfnr rhu egŸoiw.kZ dk;ks± dks le>kb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer any four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by Hierarchy of Need Theory ? 

vko’;drk inkuqØe dk fl)kUr ls vkidk D;k vk’k; gS \ 

2. Discuss „classical conditioning theory‟ of learning. 

lh[kus ds ^’kkL=h; vuqcU/ku fl)kUr* dh ppkZ dhft,A 

3. Explain the terms „attitudes‟ and „values‟. 

^eukso`fŸk;ksa* ,oa ^ewY;ksa* dh O;k[;k dhft,A 

4. Explain S-R model of human behaviour. 

ekuo O;ogkj ds S-R ekWMy dh O;k[;k dhft,A 

5. How do individual differences and environmental 

factors influence human behaviour in organizational 

settings ? 

O;fDrxr fHkUurk,¡ ,oa okrkoj.kh; dkjd fdl izdkj 

laxBukRed ifjfLFkfr;ksa esa ekuoh; O;ogkj dks izHkkfor 

djrs gSa \ 
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6. What is selective perception ? 

pqfuUnk vocks/ku D;k gS \ 

7. What are the characteristics of group ? 

,d lewg dh fo’ks”krk,¡ D;k gSa \ 

8. What do you understand by Johari Window ? 

tksgkjh foaMks ls vki D;k le>rs gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False : 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR; % 

1. Heredity is an important factor in shaping the 

personality of an individual. (True/False) 

,d O;fDr ds O;fDrRo dks cukus esa vkuqoaf’kdrk ,d 

egŸoiw.kZ dkjd gSA   ¼lR;@vlR;½ 

2. An attitude is a tendency to evaluate an object or 

symbol of that object in a certain way. (True/False) 
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,d oLrq vFkok ml oLrq ds izrhd dks ,d fuf’pr rjhds 

ls vkdyu djus dh izo`fŸk dks eukso`fŸk dgrs gSaA  

    ¼lR;@vlR;½ 

3. The discipline of psychology has a great deal of 

influence on the field of organizational behaviour.  

     (True/False) 

laxBukRed O;ogkj ds {ks= ij euksfoKku dk vR;f/kd 

izHkko gSA   ¼lR;@vlR;½ 

4. Strong interpersonal attraction developed among group 

members is called cooperation. (True/False) 

lewg ds lnL;ksa ds e/; fodflr etcwr ikjLifjd vkd”kZ.k 

lg;ksx dgykrk gSA   ¼lR;@vlR;½ 

5. Social learning is a theory of learning. (True/False) 

lkekftd vf/kxe] vf/kxe dk ,d fl)kUr gSA  

    ¼lR;@vlR;½ 

6. Conflict is detrimental to the team under any 

circumstances. (True/False) 

izfr}U} fdlh Hkh ifjfLFkfr esa lewg ds fy, {kfrdkjd gSA  

    ¼lR;@vlR;½ 

7. Transactional analysis is propounded by Eric Berne.  

     (True/False) 

O;ogkjh; fo’ys”k.k ,fjd csusZ }kjk izfrikfnr gqvkA  

    ¼lR;@vlR;½ 
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8. Vroom developed expectancy theory of motivation.  

     (True/False) 

vfHkizsj.kk dk izR;k’kk fl)kUr ozwe }kjk fodflr fd;k x;k 

gSA    ¼lR;@vlR;½ 

9. Power is a stronger concept than influence.(True/False) 

izHkko ¼izHkqRo½ dh rqyuk esa ‘kfDr ¼lŸkk½ vf/kd izcy 

vo/kkj.kk gSA   ¼lR;@vlR;½ 

10. System theory looks at the organization as whole 

examining all relevant organizational variables 

simultaneously. (True/False) 

iz.kkyh fl)kUr lHkh izklafxd laxBukRed pjksa dk ,d lkFk 

voyksdu dj laxBu dks lexzrk ls ns[krk gSA  

    ¼lR;@vlR;½ 
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